
Suites arithmético-géométriques 
Le corrigé 

 
 

 
 
	

	

1.		D'après	l'énoncé,	on	a	:	𝑣! = 𝑢! −
"

#$%
,	donc	:	𝑣!&# = 𝑢!&# −

"
#$%

.	

	 D'où	:	𝑣!&# = 𝑎𝑢! + 𝑏 −
"

#$%
		car		𝑢!&# = 𝑎𝑢! + 𝑏	

	 Donc	:	𝑣!&# = 𝑎𝑢! +
"(#$%)
#$%

− "
#$%

= 𝑎𝑢! −
%"
#$%

= 𝑎 ;𝑢! −
"

#$%
<	

	 Conclusion	:	𝑣!&# = 𝑎𝑣!	

	 La	suite	(𝑣!)	est	une	suite	géométrique	de	raison	a	et	de	premier	terme	𝑣) = 𝑢) −
"

#$%
	

	

2.	 La	suite	(𝑣!)	étant	une	suite	géométrique,	on	a	:	𝑣! = 𝑎!𝑣)	

	 D'où,	comme	𝑣! = 𝑢! −
"

#$%
,	on	a	:	𝑢! = 𝑣! +

"
#$%

= 𝑎!𝑣) +
"

#$%
	

	 Or,	si	-1	<	a	<	1,	on	a	:	 lim
!→+

𝑎! = 0	et	 lim
!→+

𝑎!𝑣) = 0	

	 D'après	les	propriétés	des	limites	de	suites,	on	a	:	 lim
!→+

𝑣! =
"

#$%
	

 

 

 
 
 


